

Name of Bidder: Curran Contracting Co. Geske & Sons, Inc. Address of Bidder: 286 Memorial Court 400 E. Terra Cotta Ave Crystal Lake, IL 60014 Crystal Lake, IL 60014 Local Public Agency: Alden Township Date: 03/05/25 County: McHenry Time: 9:00am **Proposal Guarantee** Section: 25-01000-01-GM Terms Engineer's Estimate: \$255,830.07 Approved Engineer's Estimate Quantity **Unit Price** Total **Unit Price Unit Price** Item No. **Pay Item Description** Unit **Total** Total 1 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 11,507.00 \$0.01 \$115.07 \$0.25 \$2,876.75 \$0.01 \$115.07 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT \$25.00 \$6,300.00 \$20.00 \$5,040.00 \$19.56 \$4,929.12 SQ YD 252.00 40603200 TON \$90.00 \$3,690.00 \$120.00 \$4,920.00 \$223.00 \$9,143.00 3 POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50 41.00 40604050 \$85.00 \$182,665.00 \$86.60 \$186,103.40 \$90.65 \$194,806.85 4 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 TON 2,149.00 5 44201696 SQ YD 582.00 \$25.00 \$14,550.00 \$26,772.00 \$40.10 \$23,338.20 CLASS D PATCHES, TYPE IV, 4 INCH \$46.00 48101200 AGGREGATE SHOULDERS, TYPE B 882.00 6 TON \$55.00 \$48,510.00 \$20.00 \$17,640.00 \$52.84 \$46,604.88 \$243,352.15 \$278,937.12 As Read Total Bid: \$243,352.15 \$278,937.12 As Calculated **Approved Engineer's Estimate:** \$255,830.07



Name of Bidder: Payne & Dolan, Inc. Peter Baker & Son, Co. Address of Bidder: 28435 W. Route 172 1349 Rockland Rd. Antioch, IL 60002 Lake Bluff, IL 60044 Local Public Agency: Alden Township Date: 03/05/25 County: McHenry 9:00am **Proposal Guarantee** Time: Section: 25-01000-01-GM Terms Engineer's Estimate: \$255,830.07 Approved Engineer's Estimate **Pay Item Description Unit Price Unit Price Unit Price** Item No. Unit Quantity **Total** Total Total 1 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 11,507.00 \$0.01 \$0.01 \$115.07 \$0.01 \$115.07 \$115.0 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT SQ YD 252.00 \$25.00 \$22.00 \$5,544.00 \$24.50 \$6,300.00 \$6,174.00 40603200 TON 41.00 \$90.00 \$3,690.00 \$97.00 \$115.75 \$4,745.75 3 POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50 \$3,977.00 4 40604050 2,149.00 \$85.00 \$182,665.00 \$77.75 \$90.57 \$194,634.93 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 TON \$167,084.75 5 44201696 SQ YD 582.00 \$25.00 \$31.00 \$20.00 \$11,640.00 CLASS D PATCHES, TYPE IV, 4 INCH \$14,550.00 \$18,042.00 6 48101200 AGGREGATE SHOULDERS, TYPE B 882.00 \$34,398.00 TON \$55.00 \$48,510.00 \$27.00 \$23,814.00 \$39.00 \$218,576.82 \$251,707.75 As Read Total Bid: \$218,576.82 \$251,707.75 As Calculated: **LOW BID Approved Engineer's Estimate:** \$255,830.07

Curran Contracting Co.



Address of Bidder: 225 Telser Road 286 Memorial Court Lake Zurich, IL 60047 Crystal Lake, IL 60014 Local Public Agency: Burton Township 03/05/25 Date: Proposal Guarantee County: McHenry Time: 9:00am Section: 25-03000-01-GM Terms Engineer's Estimate: \$50,183.68 Approved Engineer's Estimate Item No. **Pay Item Description** Unit Quantity **Unit Price** Total **Unit Price Total Unit Price Total** 1 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 1,868.00 \$0.01 \$18.68 \$0.01 \$18.68 \$0.01 \$18.68 \$9,000.00 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT SQ YD 180.00 \$50.00 \$10.00 \$1,800.00 \$20.00 \$3,600.00 3 40603200 POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50 TON 22.00 \$120.00 \$2,640.00 \$125.00 \$2,750.00 \$150.00 \$3,300.00 TON 307.00 \$100.00 \$30,700.00 \$40,217.00 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 \$130.00 \$39,910.00 \$131.00 4 5 44201696 313.00 \$25.00 \$7,825.00 \$25.00 \$7,825.00 \$15,650.00 CLASS D PATCHES, TYPE IV, 4 INCH SQ YD \$50.00 \$62,785.68 Not Read As Read: Total Bid: As Calculated: \$52,303.68 \$62,785.68 **Approved Engineer's Estimate:** \$50,183.68 LOW BID

Name of Bidder: Chicagoland Paving Contractors, Inc.



Name of Bidder: Payne & Dolan, Inc. Peter Baker & Son, Co. 1349 Rockland Rd. Address of Bidder: 28435 W. Route 172 Antioch, IL 60002 Lake Bluff, IL 60044 Local Public Agency: Burton Township Date: 03/05/25 Proposal Guarantee: County: McHenry Time: 9:00am Section: 25-03000-01-GM Terms Engineer's Estimate: \$50,183.68 Approved Engineer's Estimate Item No. **Pay Item Description** Unit Quantity **Unit Price** Total **Unit Price** Total **Unit Price** Total 1 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 1,868.00 \$0.01 \$18.68 \$0.01 \$18.68 \$0.01 \$18.68 \$5,787.00 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT SQ YD 180.00 \$50.00 \$9,000.00 \$28.50 \$5,130.00 \$32.15 3 40603200 POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50 TON 22.00 \$120.00 \$2,640.00 \$154.50 \$3,399.00 \$313.00 \$6,886.00 TON \$39,434.15 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 307.00 \$100.00 \$30,700.00 \$142.00 \$43,594.00 \$128.45 4 313.00 \$25.00 \$7,825.00 \$10,329.00 \$12,989.50 5 44201696 CLASS D PATCHES, TYPE IV, 4 INCH SQ YD \$33.00 \$41.50 \$62,470.68 \$65,115.33 As Read: Total Bid: As Calculated: \$62,470.68 \$65,115.33 **Approved Engineer's Estimate:** \$50,183.68

Peter Baker & Son, Co.



Main Bid

Address of Bidder: 400 E. Terra Cotta Ave Crystal Lake, IL 60014 Lake Bluff, IL 60044

Local Public Agency: Coral Township Date: 03/05/25

County: McHenry Time: 9:00am Proposal Guarantee: Terms: Terms: Approved Engineer's Estimate: \$229,806.67

Local Public Agency: Coral Township Date: 03/05/25

Approved Engineer's Estimate Unit Price Description Unit Price Data U

				Approved Ling		igilieel 3 Estilliate				
	Item No.	Pay Item Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	16,167.00	\$0.01	\$161.67	\$0.01	\$161.67	\$0.01	\$161.67
2	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	SQ YD	645.00	\$25.00	\$16,125.00	\$22.80	\$14,706.00	\$32.85	\$21,188.25
3	40604000	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5FG, MIX "C", N50	TON	2,512.00	\$85.00	\$213,520.00	\$95.45	\$239,770.40	\$83.05	\$208,621.60
				Total Bid:	As Read:	\$254,638.07		7 \$229,971.52		
						As Calculated:	\$254,638.07			\$229,971.52
			Apr	roved Engine	er's Estimate:	\$229.806.67			LO	W BID

Name of Bidder: Geske & Sons, Inc.

Peter Baker & Son, Co.

\$58,345.41

ACCEPTED

\$67,703.56



Alt Bid

Address of Bidder: 400 E. Terra Cotta Ave 1349 Rockland Rd. Crystal Lake, IL 60014 Lake Bluff, IL 60044 Local Public Agency: Coral Township Date: 03/05/25 County: McHenry Time: 9:00am **Proposal Guarantee**: Section: 25-05000-01-GM Terms Engineer's Estimate: \$60,469.96 Approved Engineer's Estimate Item No. **Pay Item Description** Unit Quantity **Unit Price** Total **Unit Price** Total **Unit Price** Total \$44.96 \$44.96 1 40600290 **BITUMINOUS MATERIALS (TACK COAT) POUND** 4,496.00 \$0.01 \$44.96 \$0.01 \$0.01 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT SQ YD 37.00 \$25.00 \$925.00 \$22.80 \$843.60 \$32.85 \$1,215.45 40604000 700.00 \$59,500.00 \$57,085.00 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5FG, MIX "C", N50 TON \$85.00 \$95.45 \$66,815.00 \$81.55 As Read \$67,703.56 \$58,345.41

Total Bid:

Approved Engineer's Estimate:

As Calculated:

\$60,469.96

Name of Bidder: Geske & Sons, Inc.

\$189.00

\$1,650.00 \$162,958.42

\$162,958.42

Geske & Sons, Inc.

\$12.60

LOW BID

\$1,650.00

\$180.00

\$5,000.00

\$178,112.40

\$178,112.40



7

8

X2700020

X8140115

GROOVED THERMOPLASTIC PAVEMENT MARKING-LINE 24"

HANDHOLE TO BE ADJUSTED

Address of Bidder: 286 Memorial Court 400 E. Terra Cotta Ave Crystal Lake, IL 60014 Crystal Lake, IL 60014 Local Public Agency: Dorr Township Date: 03/05/25 Proposal Guarantee County: McHenry Time: 9:00am Section: 25-06000-01-GM Terms Engineer's Estimate: \$166,613.39 Approved Engineer's Estimate Unit **Unit Price Unit Price** Item No. **Pay Item Description** Quantity **Unit Price Total Total Total** 05670301 FOOT 288.00 \$1.50 \$432.00 \$3.85 \$1,108.80 \$1.00 \$288.00 1 SHORT TERM PAVEMENT MARKING (SPECIAL) 2 40600290 POUND 6,639.00 \$0.01 \$66.3 \$0.40 \$2,655.60 \$0.01 \$66.39 **BITUMINOUS MATERIALS (TACK COAT)** 3 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT 1,186.00 \$25.00 \$13.00 \$12.68 \$15,038.48 SQ YD \$29,650.00 \$15,418.00 40604050 TON 1,241.00 \$85.00 \$117,895.00 \$83.55 \$103,685.55 4 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 \$105,485.00 \$95.00 5 964.00 \$25.00 \$27.50 \$33.40 \$32,197.60 44201696 CLASS D PATCHES, TYPE IV, 4 INCH SQ YD \$24,100.00 \$26,510.00 6 X2700017 FOOT 6,230.00 \$1.00 \$1.50 \$1.58 \$9,843.40 GROOVED THERMOPLASTIC PAVEMENT MARKING-LINE 4" \$6,230.00 \$9,345.00

15.00

1.00

Approved Engineer's Estimate:

\$10.00

\$500.00

Total Bid:

FOOT

EACH

Name of Bidder:

\$150.00

\$500.00

As Read

As Calculated:

\$166,613.39

Curran Contracting Co.

\$12.00

\$5,000.00

Plote Construction Inc.



Address of Bidder: 1349 Rockland Rd. 1100 Brandt Drive Lake Bluff, IL 60044 Hoffman Estates, IL 60192 Local Public Agency: Dorr Township Date: 03/05/25 County: McHenry 9:00am Proposal Guarantee: Time: Section: 25-06000-01-GM Terms Engineer's Estimate: \$166,613.39 Approved Engineer's Estimate Unit **Unit Price Unit Price Unit Price** Item No. **Pay Item Description** Quantity **Total** Total Total 05670301 FOOT 288.00 \$1.50 \$432.00 \$1.07 \$2.10 \$604.80 1 SHORT TERM PAVEMENT MARKING (SPECIAL) \$308.16 2 40600290 POUND 6,639.00 \$0.01 \$66.39 \$0.01 \$66.39 \$0.01 \$66.3 **BITUMINOUS MATERIALS (TACK COAT)** 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT 1,186.00 \$25.00 \$29,650.00 \$33.85 \$18.00 \$21,348.00 3 SQ YD \$40,146.10 40604050 TON 1,241.00 \$85.00 \$105,485.00 \$118.80 \$147,430.80 \$97.80 \$121,369.80 4 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 SQ YD 964.00 \$25.00 \$24,100.00 \$25.00 \$50.00 \$48,200.00 5 44201696 CLASS D PATCHES, TYPE IV, 4 INCH \$24,100.00 6 X2700017 FOOT 6,230.00 \$1.00 \$1.50 \$1.50 \$9,345.00 GROOVED THERMOPLASTIC PAVEMENT MARKING-LINE 4" \$6,230.00 \$9,345.00 FOOT 7 GROOVED THERMOPLASTIC PAVEMENT MARKING- LINE 24" \$12.00 \$180.00 \$12.00 X2700020 15.00 \$10.00 \$150.00 \$180.00 **EACH** \$500.00 \$3,000.00 8 X8140115 HANDHOLE TO BE ADJUSTED 1.00 \$500.00 \$350.00 \$350.00 \$3,000.00 As Read: \$221,926.45 \$204,113.99 Total Bid: \$221,926.45 \$204,113.99 As Calculated: **Approved Engineer's Estimate:** \$166,613.39

Name of Bidder: Peter Baker & Son, Co.



Name of Bidder: Curran Contracting Co. Peter Baker & Son, Co. Address of Bidder: 286 Memorial Court 1349 Rockland Rd. Lake Bluff, IL 60044 Crystal Lake, IL 60014 Local Public Agency: Dunham Township Date: 03/05/25 County: McHenry Time: 9:00am **Proposal Guarantee** Section: 25-07000-01-GM Terms Engineer's Estimate: \$445,064.50 Approved Engineer's Estimate **Unit Price** Total **Unit Price Unit Price Total** Item No. **Pay Item Description** Unit Quantity Total 1 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 24,450.00 \$0.01 \$244.50 \$0.01 \$244.50 \$0.01 \$244.50 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT SQ YD 507.00 \$25.00 \$12,675.00 \$15.00 \$27.25 \$13,815.75 \$7,605.00 40603200 TON 808.00 \$100.00 \$80,800.00 \$100.00 \$96.05 \$77,608.40 3 POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50 \$80,800.00 40604050 TON 2,949.00 \$85.00 \$250,665.00 \$88.75 \$86.00 \$253,614.00 4 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 \$261,723.75 5 44201696 SQ YD 736.00 \$25.00 \$27.50 \$25.00 \$18,400.00 CLASS D PATCHES, TYPE IV, 4 INCH \$18,400.00 \$20,240.00 48101200 AGGREGATE SHOULDERS, TYPE B 1,496.00 \$59,615.60 6 TON \$55.00 \$82,280.00 \$22.50 \$33,660.00 \$39.85 \$404,273.25 \$423,298.25 As Read Total Bid: \$404,273.25 \$423,298.25 As Calculated **LOW BID Approved Engineer's Estimate:** \$445,064.50



			286 Memorial Crystal Lake, IL	
Local Public Agency: Grafton Township County: McHenry Section: 25-08000-01-GM Engineer's Estimate: \$365,632.78 Date: 03/05/25 Time: 9:00am Proposal Guarantee: Terms:			Crystal Lake, IL	60014
County: McHenry Time: 9:00am Proposal Guarantee: Section: 25-08000-01-GM Terms: Engineer's Estimate: \$365,632.78				
Section: 25-08000-01-GM Engineer's Estimate: \$365,632.78				
Engineer's Estimate: \$365,632.78				
Approved Engineer's Estimate				
Item No. Pay Item Description Unit Quantity Unit Price Total	Unit Price	Total	Unit Price	Total
1 05670301 SHORT TERM PAVEMENT MARKING (SPECIAL) FOOT 2,214.00 \$1.50 \$3,321.00	\$2.35	\$5,202.90	\$1.00	\$2,214.00
2 20201200 REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL CU YD 157.00 \$30.00 \$4,710.00	\$25.00	\$3,925.00	\$24.00	\$3,768.00
3 21001000 GEOTECHNICAL FABRIC FOR GROUND STABILIZATION SQ YD 467.00 \$2.00 \$934.00	\$2.00	\$934.00	\$1.50	\$700.50
4 35800200 AGGREGATE BASE REPAIR TON 310.00 \$25.00 \$7,750.00	\$25.00	\$7,750.00	\$20.00	\$6,200.00
5 40600275 BITUMINOUS MATERIALS (PRIME COAT) POUND 35,022.00 \$0.01 \$350.22	\$0.01	\$350.22	\$0.01	\$350.22
6 40600290 BITUMINOUS MATERIALS (TACK COAT) POUND 7,006.00 \$0.01 \$70.06	\$0.01	\$70.06	\$0.01	\$70.06
7 40603080 HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50 TON 2,016.00 \$80.00 \$161,280.00	\$76.00	\$153,216.00	\$75.50	\$152,208.00
8 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 TON 1,309.00 \$85.00 \$111,265.00	\$84.00	\$109,956.00	\$82.50	\$107,992.50
9 X0326861 BASE PREP PULVERIZATION (SPECIAL) SQ YD 15,565.00 \$3.50 \$54,477.50	\$2.50	\$38,912.50	\$2.65	\$41,247.25
10 X2700017 GROOVED THERMOPLASTIC PAVEMENT MARKING- LINE 4" FOOT 21,475.00 \$1.00 \$21,475.00	\$0.98	\$21,045.50	\$0.98	\$21,045.50
Total Bid: As Read:	:	\$341,362.18		\$335,796.03
As Calculated:	\$341,362.18		8 \$335,796.0	
Approved Engineer's Estimate: \$365,632.78	3			



						Name of Bidder:	: Geske & Sons, Inc.		Peter Baker & Son, Co.	
					Address of Bidder:		400 E. Terra Cotta Ave		1349 Rockland Rd.	
							Crystal Lake, IL 60014		Lake Bluff, IL 60044	
Loc	al Public Agenc	cy: Grafton Township	Date:	03/05/25	ı					
	County: McHenry		Time:	9:00am	Pro	posal Guarantee:				
	Section: 25-08000-01-GM					Terms:				
Eng	Engineer's Estimate: \$365,632.78									
					Approved En	gineer's Estimate				
	Item No.	Pay Item Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	05670301	SHORT TERM PAVEMENT MARKING (SPECIAL)	FOOT	2,214.00	\$1.50	\$3,321.00	\$0.30	\$664.20	\$1.05	\$2,324.70
2	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	157.00	\$30.00	\$4,710.00	\$15.00	\$2,355.00	\$10.00	\$1,570.00
3	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	467.00	\$2.00	\$934.00	\$1.00	\$467.00	\$1.00	\$467.00
4	35800200	AGGREGATE BASE REPAIR	TON	310.00	\$25.00	\$7,750.00	\$16.00	\$4,960.00	\$8.00	\$2,480.00
5	40600275	BITUMINOUS MATERIALS (PRIME COAT)	POUND	35,022.00	\$0.01	\$350.22	\$0.21	\$7,354.62	\$0.01	\$350.22
6	40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	7,006.00	\$0.01	\$70.06	\$0.39	\$2,732.34	\$0.01	\$70.06
7	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	2,016.00	\$80.00	\$161,280.00	\$67.10	\$135,273.60	\$77.94	\$157,127.04
8	40604050	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50	TON	1,309.00	\$85.00	\$111,265.00	\$78.40	\$102,625.60	\$80.25	\$105,047.25
9	X0326861	BASE PREP PULVERIZATION (SPECIAL)	SQ YD	15,565.00	\$3.50	\$54,477.50	\$2.30	\$35,799.50	\$2.86	\$44,515.90
10	X2700017	GROOVED THERMOPLASTIC PAVEMENT MARKING- LINE 4"	FOOT	21,475.00	\$1.00	\$21,475.00	\$1.15	\$24,696.25	\$0.98	\$21,045.50
				Total Bid:	As Read:		\$316,928.11	\$334,997.67		
					Total blu.	As Calculated: \$316,928.11		\$334,997.6		
			Арр	roved Engine	er's Estimate:	\$365,632.78	LO	W BID		



Name of Bidder: Plote Construction Inc. Address of Bidder: 1100 Brandt Drive Hoffman Estates, IL 60192 Local Public Agency: Grafton Township Date: 03/05/25 9:00am **Proposal Guarantee** County: McHenry Time: Section: 25-08000-01-GM Terms Engineer's Estimate: \$365,632.78 Approved Engineer's Estimate **Unit Price Total Unit Price** Item No. **Pay Item Description** Unit Quantity Total 05670301 SHORT TERM PAVEMENT MARKING (SPECIAL) FOOT \$1.50 \$3,321.00 \$2.00 \$4,428.00 1 2,214.00 20201200 CU YD 157.00 \$30.00 \$4,710.00 \$20.00 \$3,140.00 2 REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL 3 21001000 SQ YD 467.00 \$2.00 \$934.00 \$1.00 \$467.00 GEOTECHNICAL FABRIC FOR GROUND STABILIZATION AGGREGATE BASE REPAIR 4 TON 310.00 \$25.00 \$6,200.00 35800200 \$7,750.00 \$20.00 POUND 35,022.00 \$0.01 \$350.22 \$0.01 \$350.22 5 40600275 **BITUMINOUS MATERIALS (PRIME COAT)** 7,006.00 POUND \$0.01 \$70.06 \$0.01 \$70.06 6 40600290 **BITUMINOUS MATERIALS (TACK COAT)** 7 TON \$80.00 \$161,280.00 \$72.75 \$146,664.00 40603080 HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50 2,016.00 \$85.00 \$101,447.50 8 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 TON 1,309.00 \$111,265.00 \$77.50 \$3.50 9 X0326861 BASE PREP PULVERIZATION (SPECIAL) SQ YD 15,565.00 \$54,477.50 \$2.95 \$45,916.75 \$1.00 \$21,475.00 \$21,045.50 10 X2700017 GROOVED THERMOPLASTIC PAVEMENT MARKING- LINE 4" **FOOT** 21,475.00 \$0.98 \$329,729.03 As Read: Total Bid: As Calculated: \$329,729.03 **Approved Engineer's Estimate:** \$365,632.78



Name of Bidder Curran Contracting Co. Geske & Sons, Inc. Address of Bidder: 286 Memorial Court 400 E. Terra Cotta Ave Crystal Lake, IL 60014 Crystal Lake, IL 60014 Local Public Agency: Greenwood Township Date: 03/05/25 9:00am **Proposal Guarantee** County: McHenry Time: Section: 25-09000-01-GM Terms Engineer's Estimate: \$123,805.49 Approved Engineer's Estimate **Pay Item Description** Unit **Unit Price Total Unit Price Unit Price** Item No. Quantity Total **Total** 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 9,549.00 \$0.01 \$95.49 \$0.01 \$95.49 \$0.01 \$95.49 1 2 40603200 POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50 TON 447.00 \$90.00 \$40,230.00 \$105.00 \$46,935.00 \$124.60 \$55,696.20 3 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 TON 893.00 \$85.00 \$75,905.00 \$87.75 \$78,360.75 \$87.65 \$78,271.45 4 44201696 SQ YD 303.00 \$25.00 \$7,575.00 \$48.00 \$14,544.00 \$38.85 \$11,771.55 CLASS D PATCHES, TYPE IV, 4 INCH As Read \$139,935.24 \$145,834.69 Total Bid: As Calculated \$139,935.24 \$145,834.69 \$123,805.49 **Approved Engineer's Estimate:**



						Name of Bidder:	Payne & Dolan	, Inc.	Peter Baker & Son, Co.	
					А	Address of Bidder:		te 172	1349 Rockland Rd.	
								Antioch, IL 60002		0044
Lo	cal Public Agenc	cy: Greenwood Township	Date:	03/05/25						
	County: McHenry			9:00am	Pro	posal Guarantee:				
	Section: 25-09000-01-GM					Terms:				
En	Engineer's Estimate: \$123,805.49									
					Approved Engineer's Estimate					
	Item No.	Pay Item Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	9,549.00	\$0.01	\$95.49	\$0.01	\$95.49	\$0.01	\$95.49
2	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	TON	447.00	\$90.00	\$40,230.00	\$115.00	\$51,405.00	\$111.50	\$49,840.50
3	40604050	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50	TON	893.00	\$85.00	\$75,905.00	\$91.00	\$81,263.00	\$106.15	\$94,791.95
4	44201696	CLASS D PATCHES, TYPE IV, 4 INCH	SQ YD	303.00	\$25.00	\$7,575.00	\$20.00	\$6,060.00	\$10.00	\$3,030.00
					Total Bid:	As Read:		\$138,823.49		\$147,757.94
					TOTAL BIG.	As Calculated:		\$138,823.49		\$147,757.94
			Approved Engine		er's Estimate:	\$123,805.49	LO	W BID		•
								<u> </u>		



Name of Bidder Curran Contracting Co. Geske & Sons, Inc. Address of Bidder: 286 Memorial Court 400 E. Terra Cotta Ave Crystal Lake, IL 60014 Crystal Lake, IL 60014 Date: 03/05/25 Local Public Agency: Hartland Township 9:00am **Proposal Guarantee** County: McHenry Time: Section: 25-10000-01-GM Terms Engineer's Estimate: \$163,113.38 Approved Engineer's Estimate **Pay Item Description** Unit **Unit Price** Total **Unit Price Unit Price Total** Item No. Quantity Total 40600290 **BITUMINOUS MATERIALS (TACK COAT) POUND** 7,838.00 \$0.01 \$0.01 \$78.38 \$0.01 \$78.38 1 \$78.38 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT SQ YD 645.00 \$25.00 \$16,125.00 \$16.00 \$10,320.00 \$13.76 \$8,875.20 3 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 TON 1,465.00 \$85.00 \$124,525.00 \$89.00 \$130,385.00 \$78.55 \$115,075.75 4 48101200 AGGREGATE SHOULDERS, TYPE B TON 407.00 \$55.00 \$22,385.00 \$20.00 \$44.50 \$18,111.50 \$8,140.00 As Read \$148,923.38 \$142,140.83 Total Bid: As Calculated \$148,923.38 \$142,140.83 \$163,113.38 **LOW BID Approved Engineer's Estimate:**



Name of Bidder Peter Baker & Son, Co. Address of Bidder: 1349 Rockland Rd. Lake Bluff, IL 60044 Date: 03/05/25 Local Public Agency: Hartland Township Time: 9:00am **Proposal Guarantee** County: McHenry Section: 25-10000-01-GM Terms Engineer's Estimate: \$163,113.38 Approved Engineer's Estimate **Pay Item Description** Unit **Unit Price Total Unit Price** Total Item No. Quantity 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 7,838.00 \$0.01 \$78.38 \$0.01 \$78.38 1 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT SQ YD 645.00 \$25.00 \$16,125.00 \$24.55 \$15,834.75 3 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 TON 1,465.00 \$85.00 \$124,525.00 \$87.55 \$128,260.75 48101200 AGGREGATE SHOULDERS, TYPE B TON 407.00 \$55.00 \$22,385.00 \$51.95 \$21,143.65 As Read: \$165,317.53 Total Bid: As Calculated: \$165,317.53 **Approved Engineer's Estimate:** \$163,113.38



Name of Bidder Chicagoland Paving Contractors Curran Contracting Co. Address of Bidder: 225 Telser Road 286 Memorial Court Lake Zurich, IL 60047 Crystal Lake, IL 60014 Date: 03/05/25 Local Public Agency: Hebron Township 9:00am **Proposal Guarantee** County: McHenry Time: Section: 25-11000-01-GM Terms Engineer's Estimate: \$33,715.07 Approved Engineer's Estimate **Pay Item Description** Unit **Unit Price** Total **Unit Price** Total **Unit Price Total** Item No. Quantity 40600275 **BITUMINOUS MATERIALS (PRIME COAT) POUND** 3,933.00 \$0.01 \$0.01 \$39.33 \$0.01 \$39.33 1 \$39.33 2 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 1,574.00 \$0.01 \$15.74 \$0.01 \$15.74 \$0.01 \$15.74 3 40603080 HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50 TON 227.00 \$90.00 \$20,430.00 \$100.00 \$22,700.00 \$95.00 \$21,565.00 4 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 147.00 \$90.00 \$13,230.00 \$150.00 \$22,050.00 \$99.00 \$14,553.00 TON As Read Not Read \$36,173.07 Total Bid: As Calculated \$44,805.07 \$36,173.07 \$33,715.07 LOW BID **Approved Engineer's Estimate:**



					Address of Bidder: 4		400 E. Terra Cotta Ave		Maneval Construction 28090 W Concrete Dr.	
Loc	cal Public Agend	cy: Hebron Township	Date:	03/05/25			Crystal Lake, IL	60014	Ingleside, IL 600	41
	County: McHenry			9:00am	Pro	Proposal Guarantee:				
	Section: 25-11000-01-GM					Terms:				
Eng	gineer's Estimat	te: \$33,715.07								
					Approved Eng	gineer's Estimate				
	Item No.	Pay Item Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	40600275	BITUMINOUS MATERIALS (PRIME COAT)	POUND	3,933.00	\$0.01	\$39.33	\$0.01	\$39.33	\$0.10	\$393.30
2	40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	1,574.00	\$0.01	\$15.74	\$1.43	\$2,250.82	\$0.10	\$157.40
3	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	227.00	\$90.00	\$20,430.00	\$129.20	\$29,328.40	\$157.00	\$35,639.00
4	40604050	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50	TON	147.00	\$90.00	\$13,230.00	\$158.61	\$23,315.67	\$221.10	\$32,501.70
					Total Bid:	As Read:		\$54,934.22	Not	Read
					Total blu.	As Calculated:		\$54,934.22		\$68,691.40
			Арр	Approved Engine		\$33,715.07				
			Арр	roved Engine	eer's Estimate:	\$33,715.07				_



						Name of Bidder:	Payne & Dolan, Inc.		Peter Baker & Son, Co.	
					А	ddress of Bidder:	28435 W. Rout	e 172	1349 Rockland	Rd.
							Antioch, IL 600	02	Lake Bluff, IL 6	0044
Loc	cal Public Agenc	cy: Hebron Township	Date:	03/05/25						
	County: McHenry			9:00am	Pro	posal Guarantee:				
	Section: 25-11000-01-GM					Terms:				
Eng	Engineer's Estimate: \$33,715.07									
					Approved Engineer's Estimate					
	Item No.	Pay Item Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	40600275	BITUMINOUS MATERIALS (PRIME COAT)	POUND	3,933.00	\$0.01	\$39.33	\$0.10	\$393.30	\$0.01	\$39.33
2	40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	1,574.00	\$0.01	\$15.74	\$0.10	\$157.40	\$0.01	\$15.74
3	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	227.00	\$90.00	\$20,430.00	\$110.00	\$24,970.00	\$112.00	\$25,424.00
4	40604050	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50	TON	147.00	\$90.00	\$13,230.00	\$139.00	\$20,433.00	\$124.00	\$18,228.00
					Total Bid:	As Read:		\$45,953.70		\$43,707.07
					TOTAL BIG.	As Calculated:		\$45,953.70		\$43,707.07
			Approved Engine		er's Estimate:	\$33,715.07		•		·
<u> </u>										<u> </u>



Name of Bidder: Schroeder Asphalt Services, Inc. Address of Bidder: PO Box 831 Huntley, IL 60142 Date: 03/05/25 Local Public Agency: Hebron Township County: McHenry 9:00am **Proposal Guarantee** Time: Terms Section: 25-11000-01-GM Engineer's Estimate: \$33,715.07 Approved Engineer's Estimate **Pay Item Description** Unit Quantity **Unit Price** Total **Unit Price** Total Item No. **BITUMINOUS MATERIALS (PRIME COAT)** POUND 40600275 3,933.00 \$0.01 \$0.01 1 \$39.33 \$39.33 POUND 40600290 **BITUMINOUS MATERIALS (TACK COAT)** 1,574.00 \$0.01 \$15.74 \$0.01 \$15.74 2 40603080 HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50 TON 227.00 \$90.00 \$20,430.00 \$98.00 \$22,246.00 3 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 TON 147.00 \$90.00 \$13,230.00 \$100.00 \$14,700.00 As Read \$37,001.07 Total Bid: As Calculated: \$37,001.07 **Approved Engineer's Estimate:** \$33,715.07



Name of Bidder Curran Contracting Co. Geske & Sons, Inc. Address of Bidder: 286 Memorial Court 400 E. Terra Cotta Ave Crystal Lake, IL 60014 Crystal Lake, IL 60014 Local Public Agency: Marengo Township Date: 03/05/25 9:00am **Proposal Guarantee** County: McHenry Time: Terms Section: 25-12000-01-GM Engineer's Estimate: \$174,863.64 Approved Engineer's Estimate **Pay Item Description** Unit **Unit Price** Total **Unit Price** Total **Unit Price Total** Item No. Quantity 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 8,364.00 \$0.01 \$0.01 \$83.64 \$0.01 \$83.64 1 \$83.64 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT SQ YD 445.00 \$25.00 \$11,125.00 \$18.50 \$8,232.50 \$21.40 \$9,523.00 3 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 TON 1,563.00 \$85.00 \$132,855.00 \$87.00 \$135,981.00 \$88.10 \$137,700.30 4 44201696 SQ YD 1,232.00 \$25.00 \$30,800.00 \$43.00 \$52,976.00 \$42.52 \$52,384.64 CLASS D PATCHES, TYPE IV, 4 INCH As Read \$197,273.14 \$199,691.58 Total Bid: As Calculated \$197,273.14 \$199,691.58 \$174,863.64 **Approved Engineer's Estimate:**



Name of Bidder Peter Baker & Son, Co. Address of Bidder: 1349 Rockland Rd. Lake Bluff, IL 60044 Date: 03/05/25 Local Public Agency: Marengo Township Time: 9:00am **Proposal Guarantee** County: McHenry Section: 25-12000-01-GM Terms Engineer's Estimate: \$174,863.64 Approved Engineer's Estimate **Pay Item Description** Unit **Unit Price Total Unit Price** Total Item No. Quantity 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 8,364.00 \$0.01 \$83.64 \$0.01 \$83.64 1 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT SQ YD 445.00 \$25.00 \$11,125.00 \$30.65 \$13,639.25 3 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 TON 1,563.00 \$85.00 \$132,855.00 \$93.60 \$146,296.80 44201696 SQ YD 1,232.00 \$25.00 \$30,800.00 \$25.00 \$30,800.00 CLASS D PATCHES, TYPE IV, 4 INCH As Read \$190,819.69 Total Bid: \$190,819.69 As Calculated: **Approved Engineer's Estimate:** \$174,863.64 **LOW BID**



Local Public Agency: Richmond Township Date: 03/05/25
County: McHenry Time: 9:00am

Section: 25-15000-01-GM

Engineer's Estimate: \$152,380.02

	Chicagoland Paving Contractors	Curran Contracting Co.
Address of Bidder:	225 Telser Road	286 Memorial Court
	Lake Zurich, IL 60047	Crystal Lake, IL 60014

Proposal Guarantee: Terms:

Approved Engineer's Estimate Unit **Unit Price Unit Price Unit Price** Item No. **Pay Item Description** Quantity **Total** Total Total FOOT 687.00 \$1.00 \$1.00 \$687.00 1 05670301 SHORT TERM PAVEMENT MARKING (SPECIAL) \$1.50 \$1,030.50 \$687.00 20201200 REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL 93.00 \$30.00 \$2,790.00 \$20.00 \$1,860.00 \$24.00 \$2,232.00 CU YD 277.00 \$277.00 \$1.25 3 21001000 GEOTECHNICAL FABRIC FOR GROUND STABILIZATION SQ YD \$2.00 \$554.00 \$1.00 \$346.2 35800200 \$25.00 \$15.00 \$2,760.00 \$18.00 \$3,312.00 AGGREGATE BASE REPAIR TON 184.00 \$4,600.00 \$0.01 \$208.02 \$0.01 \$208.02 5 40600275 **BITUMINOUS MATERIALS (PRIME COAT)** POUND 20,802.00 \$0.01 \$208.02 40603080 HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50 TON 1,197.00 \$80.00 \$95,760.00 \$108.25 \$129,575.25 \$77.50 \$92,767.50 7 78001110 PAINT PAVEMENT MARKING - LINE 4" **FOOT** 15,080.00 \$1.00 \$15,080.00 \$0.35 \$5,278.00 \$0.30 \$4,524.00 X0326861 BASE PREP PULVERIZATION (SPECIAL) SQ YD 9,245.00 \$3.50 \$32,357.50 \$1.00 \$9,245.00 \$2.95 \$27,272.75 As Read: Not Read

As Read: Not Read \$131,349.52
Approved Engineer's Estimate: \$152,380.02

As Read: Not Read \$131,349.52

\$149,890.27 \$131,349.52

Maneval Construction



Local Public Agency: Richmond Township Date: 03/05/25
County: McHenry Time: 9:00am

Section: 25-15000-01-GM Engineer's Estimate: \$152,380.02

Address of Bidder:	400 E. Terra Cotta Ave	28090 W Concrete Dr.
	Crystal Lake, IL 60014	Ingleside, IL 60041
Proposal Guarantee:		
Terms:		

Name of Bidder: Geske & Sons, Inc.

Approved Engineer's Estimate Unit **Unit Price Unit Price Unit Price** Item No. **Pay Item Description** Quantity **Total** Total Total 05670301 FOOT 687.00 \$0.50 \$12.00 1 SHORT TERM PAVEMENT MARKING (SPECIAL) \$1.50 \$1,030.50 \$343.50 \$8,244.00 \$2,790.00 20201200 93.00 \$30.00 \$15.00 \$1,395.00 \$47.00 \$4,371.00 REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL CU YD 277.00 \$2.00 \$2.00 \$554.00 \$1.00 \$277.00 3 21001000 GEOTECHNICAL FABRIC FOR GROUND STABILIZATION SQ YD \$554.00 35800200 \$25.00 \$19.00 \$32.00 \$5,888.00 4 AGGREGATE BASE REPAIR TON 184.00 \$4,600.00 \$3,496.00 \$0.01 \$0.01 \$208.02 \$0.10 5 40600275 **BITUMINOUS MATERIALS (PRIME COAT) POUND** 20,802.00 \$208.02 \$2,080.20 40603080 HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50 TON 1,197.00 \$80.00 \$95,760.00 \$80.95 \$96,897.15 \$97.00 \$116,109.00 7 78001110 PAINT PAVEMENT MARKING - LINE 4" **FOOT** 15,080.00 \$1.00 \$15,080.00 \$0.58 \$8,746.40 \$0.60 \$9,048.00 X0326861 BASE PREP PULVERIZATION (SPECIAL) SQ YD 9,245.00 \$3.50 \$32,357.50 \$2.35 \$21,725.75 \$4.79 \$44,283.55 As Read: \$133,365.82 Not Read Total Bid: As Calculated: \$133,365.82 \$190,300.75 \$152,380.02 **Approved Engineer's Estimate:**

Peter Baker & Son, Co.



Date: 03/05/25 Local Public Agency: Richmond Township County: McHenry Time:

Section: 25-15000-01-GM

Engineer's Estimate: \$152,380.02

Address of Bidder:	28435 W. Route 172	1349 Rockland Rd.
	Antioch, IL 60002	Lake Bluff, IL 60044
Proposal Guarantee:		
Terms:		

Name of Bidder: Payne & Dolan, Inc.

				Approved Engineer's Estimate						
	Item No.	Pay Item Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	05670301	SHORT TERM PAVEMENT MARKING (SPECIAL)	FOOT	687.00	\$1.50	\$1,030.50	\$1.25	\$858.75	\$1.46	\$1,003.02
2	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	93.00	\$30.00	\$2,790.00	\$17.00	\$1,581.00	\$23.00	\$2,139.00
3	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	277.00	\$2.00	\$554.00	\$2.19	\$606.63	\$1.00	\$277.00
4	35800200	AGGREGATE BASE REPAIR	TON	184.00	\$25.00	\$4,600.00	\$16.00	\$2,944.00	\$25.15	\$4,627.60
5	40600275	BITUMINOUS MATERIALS (PRIME COAT)	POUND	20,802.00	\$0.01	\$208.02	\$0.01	\$208.02	\$0.01	\$208.02
6	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	1,197.00	\$80.00	\$95,760.00	\$89.46	\$107,083.62	\$83.95	\$100,488.15
7	78001110	PAINT PAVEMENT MARKING - LINE 4"	FOOT	15,080.00	\$1.00	\$15,080.00	\$0.50	\$7,540.00	\$0.30	\$4,524.00
8	X0326861	BASE PREP PULVERIZATION (SPECIAL)	SQ YD	9,245.00	\$3.50	\$32,357.50	\$0.75	\$6,933.75	\$3.01	\$27,827.45
				Total Bid:	As Read:		\$127,755.77		\$141,094.24	
					iotai biu.	As Calculated:		\$127,755.77		\$141,094.24
			Apr	proved Engine	er's Estimate:	\$152,380,02	LO	W BID		Ī

9:00am



Name of Bidder: Peter Baker & Son, Co. Address of Bidder: 1349 Rockland Rd. Lake Bluff, IL 60044 Local Public Agency: Riley Township Date: 03/05/25 County: McHenry Time: 9:00am **Proposal Guarantee** Section: 25-16000-01-GM Terms Engineer's Estimate: \$370,781.52 Approved Engineer's Estimate **Pay Item Description Unit Price Total Unit Price** Total Item No. Unit Quantity 1 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 23,152.00 \$0.01 \$231.52 \$0.01 \$231.52 2 40600982 HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT SQ YD 492.00 \$25.00 \$12,300.00 \$9.00 \$4,428.00 40603200 TON 1,398.00 \$90.00 \$125,820.00 \$97.72 \$136,612.56 3 POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50 TON 2,228.00 \$85.00 \$189,380.00 \$87.99 \$196,041.72 4 40604050 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 5 44000151 SQ YD 469.00 \$30.00 \$13.15 HOT-MIX ASPHALT SURFACE REMOVAL, \$14,070.00 \$6,167.35 44000152 HOT-MIX ASPHALT SURFACE REMOVAL, 966.00 \$28,980.00 6 SQ YD \$30.00 \$12.74 \$12,306.84 \$355,787.99 As Read: Total Bid: As Calculated: \$355,787.99 **LOW BID Approved Engineer's Estimate:** \$370,781.52



Local Public Agency: Seneca Township

County: McHenry

Section: 25-17000-01-GM

Engineer's Estimate: \$255,377.77

Date: 03/05/25 Time: 9:00am Crystal Lake, IL 60014

Name of Bidder: Curran Contracting Co.

Address of Bidder: 286 Memorial Court

400 E. Terra Cotta Ave Crystal Lake, IL 60014

Geske & Sons, Inc.

Proposal Guarantee: Terms:

Approved Engineer's Estimate

						0				
	Item No.	Pay Item Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	05670301	SHORT TERM PAVEMENT MARKING (SPECIAL)	FOOT	2,170.00	\$1.50	\$3,255.00	\$1.00	\$2,170.00	\$0.40	\$868.00
2	40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	14,027.00	\$0.01	\$140.27	\$0.01	\$140.27	\$0.01	\$140.27
3	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	TON	655.00	\$105.00	\$68,775.00	\$95.00	\$62,225.00	\$115.00	\$75,325.00
4	40604050	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50	TON	1,310.00	\$85.00	\$111,350.00	\$84.50	\$110,695.00	\$79.85	\$104,603.50
5	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	SQ YD	15,585.00	\$3.50	\$54,547.50	\$2.25	\$35,066.25	\$1.80	\$28,053.00
6	44201696	CLASS D PATCHES, TYPE IV, 4 INCH	SQ YD	468.00	\$25.00	\$11,700.00	\$48.00	\$22,464.00	\$38.00	\$17,784.00
7	78001110	PAINT PAVEMENT MARKING - LINE 4"	FOOT	5,610.00	\$1.00	\$5,610.00	\$0.60	\$3,366.00	\$1.17	\$6,563.70
					Total Bid:	As Read:		\$236,126.52		\$233,337.47
					TOTAL BIG.	As Calculated:		\$236,126.52		\$233,337.47
			App	roved Engine	er's Estimate:	\$255,377.77				



Name of Bidder: Peter Baker & Son, Co. Address of Bidder: 1349 Rockland Rd. Lake Bluff, IL 60044 Local Public Agency: Seneca Township Date: 03/05/25 Time: 9:00am **Proposal Guarantee** County: McHenry Section: 25-17000-01-GM Terms Engineer's Estimate: \$255,377.77 Approved Engineer's Estimate Item No. **Pay Item Description** Unit Quantity **Unit Price** Total **Unit Price** Total 05670301 SHORT TERM PAVEMENT MARKING (SPECIAL) FOOT 2,170.00 \$1.50 \$3,255.00 \$0.73 \$1,584.10 1 2 40600290 **BITUMINOUS MATERIALS (TACK COAT)** POUND 14,027.00 \$0.01 \$140.27 \$0.01 \$140.27 3 40603200 POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50 TON 655.00 \$105.00 \$68,775.00 \$99.00 \$64,845.00 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50 \$82.65 4 40604050 TON 1,310.00 \$85.00 \$111,350.00 \$108,271.50 5 44000158 HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4" SQ YD 15,585.00 \$3.50 \$54,547.50 \$2.07 \$32,260.95 \$25.00 \$11,700.00 \$15.00 \$7,020.00 6 44201696 CLASS D PATCHES, TYPE IV, 4 INCH SQ YD 468.00 78001110 FOOT \$1.00 PAINT PAVEMENT MARKING - LINE 4" 5,610.00 \$5,610.00 \$0.60 \$3,366.00 As Read: \$217,487.82 Total Bid: As Calculated: \$217,487.82 **Approved Engineer's Estimate:** \$255,377.77 **LOW BID**